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PHI 332W: Health Care Ethics

Module 4 : Argument Evaluation

In modules 2  and 3 you learned how to identify arguments.  In this module you will learn how to evaluate arguments.  To evaluate an argument is to judge it as good or bad, strong or weak.  Argument evaluation is the heart of any course in ethics.  It is, of course, impossible to evaluate an argument before you have identified what the argument is, which is why we spent time (a frustrating time for many of you, I know) learning to identify arguments.  Now at last you will get to express your opinions about the arguments we have identified!  The general technique you will learn is that of raising objections and considering replies.  Many moral arguments use analogies (in contrast, many scientific arguments use causal or statistical arguments); therefore I include some specialized techniques having to do with arguments from analogy.

I will continue to work with the section in your text on “The Morality of Abortion.”  I made this choice for several reasons. In the first place, this is a topic where arguments have failed to produce broad agreement in our society.  Its important that you recognize this limit to human argument.  But (my second reason) it is equally important to recognize what the study of arguments accomplishes even here:  that a number of initially plausible arguments are not good and should not be convincing.  At a personal level (my third reason), this discovery will actually make you a better person.  The ancient Greek philosopher Socrates (who was probably the greatest evaluator of ethical argument in human history) described this important change in the following words:  

You will be less harsh and gentler to your associates, for you will have the wisdom not to think you know that which you do not know.

Finally, since almost everyone has thought about and is already familiar with the main pro and con arguments about abortion, and since the topic of abortion requires less specialized background information than most topics in health care ethics, it will be easier for you to practice the techniques of raising objections and the use of arguments from analogy. 

4.1 Objections and replies

You will be pleased to know that you don’t need to learn any new diagramming technique in order to learn to raise objections.  The basic idea is simple.  Any argument is always built of premises leading to conclusions.  

There are only two places to raise an objection:  either the premise is false or the conclusion does not follow from the premise.  In other words, we can raise objections either to the truth of the premise or the inference to the conclusion.

Notice—and this will surprise many of you—that our judgment about the truth of the conclusion is almost completely irrelevant to our evaluation of the argument for it.  On the one hand, our judgment that a conclusion is true tells us nothing as to whether the argument for it is any good, since it is common in ethics to find bad arguments for true conclusions.  On the other hand, our judgment that a conclusion is false means there must be some mistake in any argument for that conclusion, but it does not indicate where or how such an argument is bad.

Evaluation, then, takes place at two parts in an argument diagram:







Ask yourself these questions in evaluating an argument:

1. Are the premises true?--In practice, this means:  Can you raise objections to the premise?

2. Does the conclusion follow from the premises?  (Not: “Is the conclusion true?”)—In practice, this means:  can you think of situations where the premise is true but the conclusion might be false?

The best way to learn argument evaluation is to practice with examples. 

4.1.1 Are the premises true?

Do (or review) exercise 3.4.10.  Then turn the page.

In exercise 3.4.10 I diagrammed John Paul II’s positive argument for his conclusion that abortion is immoral as follows.






There are no objections to premise 3, which states that IF abortion is murder, then its immorality (its “moral gravity”) is apparent.  (If you think premise 3 is objectionable, notice that premise 3 does NOT state that abortion is murder:  it merely makes an “iffy” remark.  Compare:  “if shaving is murder, than its moral gravity is apparent.”)

Now consider premise 2.  Even if you agree with premise 2, you should be able to think of an objection to it.  Type that objection below, then turn the page.

My objection to premise 2:

Premise 2 is not clearly true.  In other words, it is not obviously true that a fetal life at every stage (even as fertilized egg) is a human being in the relevant sense for its destruction to be murder.

Notice that my objection is a mere assertion, with no argument supporting it.  If you gave argument supporting your assertion that premise 2 is not clearly true, then your answer is better than mine.  While my objection is the most common, you may have thought of an entirely different objection.  If so, give yourself a pat on the back!

Notice that I do not, in evaluating an argument, have to prove that premise 2 is false.  I do, however, have to show that its truth is not clear.  If a premise  is not obvious, then any conclusion drawn from it is not obvious, either.

4.1.2 Does the conclusion follow?

Do (or review) exercise 3.4.15.  Then turn the page.

In exercise 3.4.15 I diagrammed part of Susan Sherwin’s positive argument for her conclusion that women have a right to choose abortion as follows.




Premise W.4 is unobjectionable.  (People can believe just about anything!)  But there are objections to the inference she draws from W.4.  The way to state an objection to this inference is to think of a situation where W.4 is true but W.3 false.  Type your objection below.  If you need help, I put a hint on the next page.

Hint to finding an objection to the inference from W.4 to W.3:  Think of a possible life plan a woman could have which is non-compelling (ideally, a life plan that everyone, including Sherwin herself, would regard as non-compelling, failing that, a life plan that many people would regard as non-compelling).

My objection to the inference from incompatible life plan to compelling reason for abortion:

If the life plan is not compelling, then the fact that having a child is incompatible with the plan is not compelling, either.  And a life plan need not be compelling but might be frivolous or irresponsible or otherwise deplorable.  For example, a life plan to do whatever the husband desires (and he desires only boys, not girls); so when ultrasound reveals a perfectly healthy baby girl, continuing the pregnancy is incompatible with her life plan.  [I’m guessing that Sherwin will find such a life plan deplorable and not necessarily compelling.]  To take another example, in her seventh month a woman reads a glossy travel brochure and wants to abort so she can look good in a swimming suit a couple months sooner in Europe.  When we ask her, “Is this your life plan?” she replies that the opportunities she could miss in Europe to meet people might have devastating repercussions throughout her life—this could be her only chance to meet a millionaire!”  [I’m guessing that most people would find this life plan frivolous and not compelling.]

Again, you may have thought of a different objection or objections.  If so, well done!

4.1.3 How to think of objections

When you are writing your research paper, you may have trouble thinking of objections to an argument (or “seeing both sides of an issue,” as we sometimes say), or you may wonder if you are leaving out a good objection.  If that happens, there are three things to do to look for objections:

1. The article that gives the argument you are examining might itself consider objections.  For example, John Paul II states an objection to his own premise 2 in the first sentence of his paragraph 7.

2. Other articles on the same subject might state objections.  For example we see Thomson object to Paul’s premise 2 in para. 1 of her article (p. 332); Warren objects to it in section II.1 (pp. 346-7); Marquis in para. 5 (pp. 352-353), Sherwin in the first paragraph of her section “The Fetus” (p. 363), and Callahan, sec. 3 para. 1 (p. 367).

3. Talk to other people, especially those with different perspectives than you have, to try in conversation to find objections to the argument you are interested in.  (This would be your best bet with the Sherwin inference from life plan to compelling abortion.)  With a little practice, you’ll find that you can anticipate what different people will say, and you can carry on conversations between them in your own mind.  This process is called “reflection.”  There’s an important lesson here, which surprises many people and will help you write your research paper:  your best friend, if you want to defend a thesis as well as possible, is someone who is best at raising objections to your thesis, and often this will be someone who disagrees with you, perhaps passionately, about your thesis.

The first two strategies are simply a matter of doing the research you need on your topic.  They assure you that your paper is not missing objections that it should contain.  The third strategy is your best bet for developing an original objection.  Ideally, your research paper will cover objections already in the literature and somewhere contain at least one original idea.  Be sure to cover the objections already published; otherwise your research paper will be ill-informed.

4.1.4 Objections to objections

Just as you can object to an argument, you can also object to an objection or “reply” to it.  For example, a reply to my objection above would give reasons why fetal life is a human being in the relevant sense.  If your objection was better than mine—that is, it provided an argument—then a reply to your objection would examine the premises of that argument and raise an objection to one or more of them.  Notice that, once a reply is stated, we can continue the inquiry by raising an objection to it, and an objection to that, and so on.  If we can conclude this process by giving good answers to all objections to our position, we have defended our thesis.  It is unlikely that your research paper will successfully defend the thesis that abortion is (or is not) immoral.  The issue is too big; there are too many objections and replies to cover.  It is much more likely that your research paper will be able to successfully contribute to the thesis that abortion is (or is not) immoral by defending a more restricted thesis, such as “One argument for (against) abortion is poor” or “One objection to an argument for (against) abortion fails (or succeeds).”  I’ll help you individually to find the right statement of your thesis.  Often you won’t know until the final draft!  

4.1.5 Make your objections works of love!

Obviously, the more you practice raising objections, the better you will get at it.  It may surprise you, however, to learn that your actions in raising objections develop your moral character as well as your powers of intellect.  You want to monitor and seek to improve your personal character in all your human actions, including the action of arguing and inquiring in a research paper or discussion.  In particular, you want to exercise and develop the human virtues of magnanimity, fidelity, benevolence, and charity in your interpretations and evaluations of arguments.

Magnanimity is largeness or greatness of spirit.  The activity of argument about ethics is to find out or explain to another the truth about the issue at hand.  If I can think only of winning a victory for myself in discussion, this is because my spirit is too small to recognize a goal outside of myself.  This smallness or meanness of spirit, the opposite of magnanimity, is pusillanimity.  The magnanimous person remembers that argument about health care ethics is not a competitive sport aimed at winning prestige for oneself.  The argument is, rather, the only way human beings have to inquire into the truth of issues vital to their humanity.  It takes a large spirit to keep in mind the goal of finding the truth, a goal that has nothing to do with self-glorification.  Take care that you, in raising objections, do it, not with the aim of winning a debate, but with the aim of uncovering, as far as humanly possible, the truth in community with your partner in conversation.

Fidelity is being faithful to your partner in discussion (it doesn’t matter whether the discussion is written or oral).  You are faithful when your objection speaks precisely to the argument of the other.  You may have noticed that I try to use direct quotations wherever possible in identifying and diagramming arguments, and when I had to supply my own words, I try to make clear in the diagram my own interpretation by the use of square brackets.  These are examples of acts of fidelity.  The opposite of fidelity is infidelity or unfaithfulness.  If you are careless in how you present the argument you are evaluating, you risk being unfaithful to the author, your partner in that discussion.  You are unfaithful when you misrepresent the argument of another (for example, in objecting to a crude or silly position that your partner did not actually say).

Benevolence (or “good will”) is desiring or delighting that good things happen to another person.  You should make your arguments and raise your objections with benevolence.  Always be able to add these words, at least silently, to your objections and arguments:  “You seek the truth in this matter, and therefore I want to share whatever insights I might possess with you, for I love you and this is how I show my friendship for you.”  If you lack benevolence in your arguments, your motive must be defective somehow.  If you don’t care about the other person, why are you bothering to talk?  Just to get your way?  Just to dominate a conversation?  Just to show off?  The opposite of benevolence is malice (or “malevolence”):  not just lacking good will, but actually desiring or delighting that bad things happen to another, such as their humiliation in a conversation.  The person with the defect of malice is truly evil.

Charity is thinking the best of other people.  Charity assumes as far as possible that the motives of others are good and puts the best possible construction on their words and actions.  The opposite sort of people are uncharitable:  they assume that someone who disagrees with them in argument must be either stupid or evil.  You will strive in your writing and conversation to show that you have the highest regard for the moral character and intellect of your partners in discussion.  Thus abuse or disparaging remarks have no place in your objections.  (It is not, however, necessarily abusive to show that another’s claim leads to absurdity:  it is sometimes the best way to show that a claim is false.)  Make it your policy to come to believe that your partner is cruel or selfish or greedy or uncaring or sexist or racist only when every other interpretive option is exhausted.  And before you ever conclude that your partner is stupid, you will assume that you are ineffective in expressing the truth you must know but they do not.  Watch yourself as you raise objections to arguments. so that you act with charity and do not become uncharitable!

Magnanimity, fidelity, benevolence, and charity are excellences (or “virtues”) of human character.  Their lacks or opposites are defects (or “vices”).  Show good character in all you do, including your arguments with others.  Virtue is its own reward, by the way:  the better your moral character becomes the more you will profit from the argument and the less you have to fear of being harmed by the behavior of others, for it is not your ego on the line in a game of winner-take-all, but rather a disinterested search for truth.

Finally, I must point out that these virtues--magnanimity, fidelity, benevolence, and charity—are ideals that no one possesses perfectly.  So don’t be discouraged if you find that you never possess them perfectly:  that means you’re like the rest of us!

4.1.6 Good manners in conversation

The activity of raising objections by its nature examines the acceptability of a premise or inference.  The whole point of the objection is to test what has been said.  If your assumption in making the objection is that your partners are wrong and that your objection will shut them up, you are being uncharitable.  Do NOT say:


!!!
“You are wrong (or stupid or silly or immoral) to say that!”

You should NOT assume that your objection is a conversation stopper (“I win!  The truth is obvious!”) 

DO say:

· “Am I understanding you right that [blah blah]?  

· [If yes,] do you agree this means [la dee dah]?  

· [If yes,] perhaps [la dee dah] will seem wrong to many people?

In making objections, always speak as if giving an invitation to draw out the intelligence of your partner further in the matter {“You have a different perspective on this than I do, so there’s a good chance that, by putting our heads together, we may actually make a bit of progress towards understanding the issue better.”) 

4.1.7 Exercise

Do or review exercise 3.4.12.  State an objection to Mary Anne Warren’s following argument:




Hint:  Warren herself raises an objection in her Postscript; so does Marquis in his sec. 1.  But try to think of your own objections first.

Warren’s premise II.3.2 that only persons have moral rights (“the attributes which are relevant in determining whether or not an entity is enough like a person to be regarded as having some moral rights are no different from those which are relevant to determining whether or not it is fully a person”) appears untrue.  Infants and severely retarded human beings are not persons (according to her own criteria p. 348), yet they have moral rights.

Of course, you may have thought of other objections just as good as this one.  If so, congratulations!

4.1.8 Exercise

Do or review exercise 3.4.15.  State an objection to Susan Sherwin’s following argument. 




If you need a hint for an objection to Sherwin’s argument:  see Callahan’s paragraph 8 of “From the Moral Right to Control . . .”, pp. 368-70).

As Callahan points out, in objection to Sherwin’s premise W.5:  “It has never been thought right to have an interested party [that means, a party with something at stake], especially the more powerful party, decide his or her own case when there may be a conflict of interest.” And since a pregnant woman is an interested, more powerful party with a conflict of interest, the women concerned are NOT in the best position to judge whether abortion is the appropriate response to a pregnancy.  So premise W.5 is false.

Of course, you may have thought of other objections just as good as this one.

4.1.9 Exercise

State an objection to the following argument by Sherwin, p. 365 (from exercise 3.4.15).  




If you need a hint, see Callahan “From the Moral Claim of the Contingent Value. . .” para. 1, pp. 370-371.

Callahan raises the following objections to Sherwin’s premise F.10:  That premise makes the unargued assumptions “(1) that human value and human rights can be granted by individual will; (2) that the individual woman’s consciousness can exist and operate in an a priori isolated fashion; and (3) that “mere” biological, genetic human life has little meaning.”  Without a defense of these assumptions, it is hard to see why we should believe premise F.10.

You may have thought of other objections just as good as this one.

4.1.10 Exercise

State objections to Sherwin’s following argument from her section “Women and Abortion” pp. 362-3 (from exercise 3.4.15).







If you need a hint, see Callahan’s sec. “The Moral Right of Women to Full Social Equality from a Feminist Perspective.”

I have no objection to W.9.  

I have doubts about W.8, since, as Callahan says, “a permissive, erotic view of sexuality is assumed [by W.9] to be the only option” (p. 374).  Callahan defends a Victorian alternative as more liberating for women.  

About premise W.7,  Callahan says, “Permissive abortion, granted in the name of [ending the cycle of oppression against women], ratifies the view that pregnancies and children are a woman’s private individual responsibility.  More and more frequently, we hear some versions of this old rationalization:  if she refuses to get rid of it, it’s her problem.  A child becomes a product of the individual woman’s freely chosen investment, a from of private property resulting from her own cost-benefit calculation.  [Therefore] the larger community is relieved of moral responsibility [to remove oppressive circumstances resulting from pregnancy]” (p. 372).  I conclude that it is as easy to argue that a culture with permissive abortions oppresses women as to argue that a culture without permissive abortions oppresses them.  So I am unconvinced by W.7.

You may have thought of other objections (or found other objections in Callahan) as good as or better than these.

4.1.11 Counter-examples as objections

Infants and severely retarded human beings are counter-examples to Warren’s premise that only persons have moral rights (in 4.1.7).  When someone makes a general statement, a counter-example is an exception to that statement.  Fetuses and the severely retarded are NOT persons, according to Warren’s criteria, but they DO have moral rights, such as a right to life.  The trick to finding a counter-example is to think of something that fits one part of the generalization (in this case, fetuses are NOT persons) but doesn’t fit the other part (in this case, because fetuses do have rights). Warren’s premise is like a rule, it tells us that whatever is not a person has no moral rights; fetuses and retarded persons show that this rule does not hold true.

4.1.12 Exercise

Think of a counter-example to John Paul II’s premise 2 (as I identify it in para. 7, p. 331).







If you need a hint, see Marquis’s sec. 1, pp. 352-3.

A counter-example to Paul’s premise 2 is a human cancer cell, as Marquis points out.  

When a human cancer cell appears in my body, it is a human individual according to the criterion in premise 1:  “a life is begun which is neither that of the father nor the mother; it is rather new human life with its own growth.”  But no one thinks an individual human cancer cell is a human person.  Indeed, almost any individual cell in a human body is a counter-example.  The only human cell that would not be an effective counter-example here is a fertilized ovum, since Paul holds that such a cell is a person.  We can predict he would not hold that a red blood cell in my body is a person.  A cancer cell is more effective as a counter-example than any healthy human cell, because we actually desire to destroy cancer, unlike healthy cells.  Yet they would be protected, as it seems, according to Paul’s principle.

4.1.13 Exercise

Find a counter-example to Marquis’s premise 1 as I identify it in his section II para. 8 (p. 356).






Marquis states some objections to his argument in his own essay.  For an additional hint, turn the page.

Hint for counter-example to Marquis’s premise 1:  think of someone with little or no future whom it would be wrong to kill, or think of something with a future like ours, whom it would not be wrong to kill.

One counter-example that Marquis himself suggests (sec. V, p. 359) is an unfertilized egg.  If we don’t use contraception, it HAS a good chance of a future like ours.  But Marquis, like most people, agrees that preventing that future for the egg is NOT wrong.  So it appears to be an effective example.  

Another counter-example is someone at the end of his life.  For example, even if my parents were both going to die in their sleep tonight, it would still be murderously wrong for me to strangle them at bedtime or to give them a lethal injection just after they dozed off.  The person at the end of their life is an example of someone who does NOT have a future in life but whom it IS wrong to kill.  

Notice that the unfertilized egg would not be an effective counter-example with someone who thinks contraception is wrong (obedient Roman Catholics are such people).  And the person at the end of his life would not be effective with someone who sees nothing wrong with such a killing (although I know of no one who believes that!).

4.2 Arguments from analogy

An argument from analogy is a fancy version of a counter-example.  Arguments from analogy are frequently used in health care ethics.  One reason for this is that, as health care technology develops, we are faced with new situations (cloning, surrogate motherhood, more complex end-of-life decisions, etc.) in which people disagree or simply do not know what is right and wrong.  If we can find a good analogy between the new situation and a situation we already agree upon, we can make a reasonable decision about the new case.  Your research paper might benefit from the use of an argument from analogy, either when you identify and evaluate another person’s use of such an argument, or when you construct your own analogy.  Indeed, your entire evaluation of an argument can rest on one carefully drawn argument from analogy, or on the evaluation of the analogy of another.  

In this submodule you will learn the three parts of an argument from analogy:  first, a display of a parallel argument (called the “analogous argument” or “analog”) alongside of a target argument; second, a premise evaluating the analog; third, a conclusion evaluating the target in the same terms.  Knowing these three parts will help you identify arguments from analogy.  After you have learned to identify arguments from analogy, you will learn to evaluate them

4.2.1 Using analogs to object to a target argument

In the first paragraph of “A Defense of Abortion” (p. 332), Thomson uses an argument from analogy to evaluate a pro-life argument.  Here is the target argument she is evaluating:

1. The development of a human being from conception through birth into childhood is continuous.

2. To draw a line, to choose a point in this development and say “before this point the thing is not a person, after this point it is a person” is to make an arbitrary choice, a choice for which in the nature of things no good reasons can be given.

Thus 
3. The fetus is, or anyway we had better say it is, a person from the moment of conception.

After reading her first paragraph, try to construct, from the fetus argument just given, an analogous argument for acorns--two premises and a conclusion.  Make your analog as nearly parallel as possible.  Then turn the page to see my answer.

Here is my analog.

1. The development of an acorn from seed, through falling to the ground, into sapling-hood is continuous.

2. To draw a line, to choose a point in this development and say “before this point the thing is not an oak tree, after this point it is an oak tree” is to make an arbitrary choice, a choice for which in the nature of things no good reasons can be given.

Thus 
3. The acorn is, or anyway we had better say it is, an oak tree from the moment of first existence.

After the first step of displaying the analog with the target, Thomson makes her second step by stating the following premise: “It does not follow [in the analog] that acorns are oak trees, or that we had better say that they are.”  Her third step is to draw a conclusion about the target argument:  “[The fetus argument’s] conclusion [that fetuses are persons, or that we had better say that they are] does not follow.”  These three steps complete her own argument from analogy.  

Notice that Thomson does not herself (though some people do) accept the inference in the target argument.  Also, she expects no one to accept the inference in her own analogous argument, and therefore she hopes to convince everyone not to accept the inference in the target argument.  Every argument from analogy refers to both a target argument (which is controversial) and an analogous argument (which is intended to be non-controversial).  Every argument from analogy aims to make the target as non-controversial as the analog.

When you are raising an objection to an argument with an argument from analogy (perhaps this will be useful to you in writing your research paper), use the following steps in making your objection.

Step 1.
Display an analog alongside the target argument.

Step 2.
Point out that the conclusion of the analog does not follow.

Step 3.
Conclude that, probably, the conclusion of the target does not follow.

Likewise when you are identifying another’s argument from analogy, identify it by restating it according to these same three steps.  The diagram of this argument from analogy will always have this simple general form:





4.2.2 Exercise

In “A Defense of Abortion,” Thomson in her third paragraph states a target, a pro-life argument.  State or diagram that argument, then turn the page to check your work.  If you need a hint, see 2.13.2.

A statement of an argument will always be a numbered list of sentences, with a conclusion indicator before each conclusion.    Although such numbered lists of sentences do not display the structure of an argument as well as the diagrams you now know and love, the convention in ethics papers is to state arguments using the numbered list.  (Notice, for example, that there are no diagrams in the text for this course.)  You will use numbered lists in your midterm and in the final draft of your research paper, so it is good to start practicing them.

1.
“The fetus is a person from the moment of conception” (Thomson grants this premise for the sake of argument; she doesn’t really accept it.)

2.
“Every person has a right to life.”

3.
“So the fetus has a right to life.”

4.
“A person’s right to life is stronger and more stringent than the mother’s right to decide what happens in and to her body.

5.
“So [a person’s right to life] outweighs [the mother’s right to decide what happens in and to her body.”

6
“So the fetus may not be killed; an abortion may not be performed.”

My diagram of the same argument, repeated (and renumbered) from 2.13.2.











4.2.3 Exercise

In paragraph 4 of her essay (p. 333), Thomson imagines a hospital director giving you an analogous argument involving a violinist.  State or diagram that analog as perfectly in parallel as possible with my statement or diagram above.  Then turn the page to check your work.

My statement of Thomson’s analog:

1.
“Violinists are persons.” 

2.
“All persons have a right to life.”

3.
[So the violinist has a right to life.]

4.
[A person’s right to life is stronger and more stringent than your right to decide what happens in and to your body.]

5.
“[So] a person’s right to life outweighs your right to decide what happens in and to your body.”

6
“So [the violinist may not be killed]; you may not be unplugged from him.”

My diagram of the parallel argument.











We have completed step 1 of the argument from analogy.  Once we have displayed the target and analogs this way, it is easy to actually state the argument from analogy using Steps 2 and 3:

The conclusion of the analog does not follow.

Therefore, probably, the conclusion of the target does not follow.

4.2.4 Exercise

Quote Thomson in paragraph 4 to show where she makes steps 2 and 3.  Then turn the page to check your work.

Thomson points out that the conclusion of the analog does not follow with these words:  “I imagine you would regard this as outrageous” (p. 333).  She makes step three in the very next words:  “which suggests that something really is wrong with that plausible-sounding argument [namely, the target argument].”

4.2.5 Exercise

In section 4 of “A Defense of Abortion,” Thomson suggests a target argument in paras. 5 and 6 (pp. 336-7).  State or diagram that target argument.  Then turn the page to compare your answer to mine.

My statement of the target argument, using Thomson’s words as much as possible:

1. [If] a woman voluntarily indulges in intercourse, knowing of the chance it will issue in pregnancy, and . . . does become pregnant, [then her partial responsibility for the fetus’s being there DOES itself give it a right to the use of her body].

2. If [premise 1 is true], then her aborting it would be more like the boy’s taking away the chocolates, and less like your unplugging yourself from the violinist—doing [the abortion] would be depriving [the fetus] of what it does have a right to.

3. Thus [doing the abortion] would be doing [the fetus] an injustice.

4. Then . . . if she voluntarily called it into existence, [she can NOT now kill it, even in self-defense].

My diagram:  1 + 2 ( 3 ( 4.

4.2.6 Exercise

Next, in paragraph 8 of sec. 4 (p. 337), Thomson argues from analogy  “that it is not at all plain that this [target] argument really does go even as far as it purports to,” and that “the details make a difference.”  Her argument from analogy refers to analogs that involve (1) open windows and a burglar, (2) barred windows and a burglar, (3) open windows and an innocent person, (4) barred windows and an innocent person, and (5) pollen-like people seeds.  Construct each of these five analogous arguments as perfectly in alignment as possible with the target argument above, either as a list of numbered sentences or as a diagram.  Then compare your answers with my mine, on the next five pages.  Thomson never mentions anything like premise 2 again, so I shall leave it out of my answers, constructing analogies only to statements 1, 3, and 4.

(1) The open window and burglar.  To make it easier to see the analogy, I’ve put the changes in square brackets.

1. If [I] voluntarily [open a window to air my room], knowing of the chance it will issue in [entry by a burglar], and . . . [a burglar does enter], then [my] partial responsibility for the [burglar’s] being there DOES itself give it a right to the use of [my room].

3. Thus [expelling the burglar] would be doing [the burglar] an injustice.

4. Then . . . if [I] voluntarily [admitted the burglar into my room], I can NOT now kill [or expel] it, even in self-defense.

My diagram:  1 ( 3 ( 4.

(2) The barred window and burglar.  To make it easier to see the analogy, I’ve put the parallels in square brackets.

1. If [I had bars installed outside my windows, precisely to prevent burglars from getting in, and I] voluntarily [open a window to air my room], knowing of the [very small] chance it will issue in [entry by a burglar], and [because of a defect in the bars a burglar does enter], then [my] partial responsibility for the [burglar’s] being there DOES itself give it a right to the use of [my room].

3. Thus [expelling the burglar] would be doing [the burglar] an injustice.

4. Then . . . if [I] voluntarily [admitted the burglar into my room, I] can NOT now kill [or expel] it, even in self-defense.

My diagram:  1 ( 3 ( 4.

(3) The open window and innocent person.  To make it easier to see the analogy, I’ve put the changes in square brackets.

1. If [I] voluntarily [open a window to air my room], knowing of the chance it will issue in [entry by anyone], and . . . [an innocent person does blunder or fall in], then [my] partial responsibility for the [innocent person’s] being there DOES itself give it a right to the use of [my room].

3. Thus [expelling the innocent person] would be doing [the innocent person] an injustice.

4. Then . . . if I voluntarily [admitted the burglar into my room], I can NOT now kill [or expel] it, even in self-defense.

My diagram:  1 ( 3 ( 4.

(4) The barred window and innocent person.  To make it easier to see the analogy, I’ve put the changes in square brackets.

1. If [I had bars installed outside my windows, precisely to prevent anyone from getting in, and I] voluntarily [open a window to air my room], knowing of the [very small] chance it will issue in [entry by someone], and [because of a defect in the bars an innocent person does enter], then [my] partial responsibility for the [innocent person’s] being there DOES itself give it a right to the use of [my room].

3. Thus [expelling the innocent person] would be doing [the innocent person] an injustice.

4. Then . . . if [I] voluntarily [admitted the innocent person into my room, I] can NOT now kill [or expel] it, even in self-defense.

My diagram:  1 ( 3 ( 4.

(5) Pollen-like people seeds.  To make it easier to see the analogy, I’ve tried to put the changes in square brackets.  

Notice how I state background information for this analogous argument.  Another way would be to insert all of the background information into premise 1 (but that would be messy, and messy means less clear, and less clear is less preferable than more clear!).

Background information for this analog:  People seeds drift about in the air like pollen.  If you open your windows, one may drift in and take root in your carpets or upholstery  You don’t want children, so you fix up your windows with fine mesh screens, the very best you can buy.  As can happen, however, and on very, very rare occasions does happen, one of the screens is defective; and a seed drifts in and takes root.

1. If [you] voluntarily [open a window to air your room, knowingly kept carpets and upholstered furniture, and knew that screens were sometimes defective, and because of a defect in the mesh a people seed does enter and takes root], then [your] partial responsibility for the [innocent person’s] being there DOES itself give it a right to the use of [your room].

3. Thus [killing the person] would be doing it an injustice.

4. Then . . . if [you] voluntarily [opened your windows] you can NOT now kill [or expel] it, even in self-defense.

My diagram:  1 ( 3 ( 4.

4.2.7 Exercise

You are doing these exercises to develop your ability to see and draw analogies.  Thomson says in the same paragraph (p. 337) that “the details make a difference.”  For each of the special details in her parallels (1)–(5), explain what details in the target argument she could mean to add.  

(1) open windows and a burglar

(2) barred windows and a burglar

(3) open windows and an innocent person

(4) barred windows and an innocent person

(5) pollen-like people seeds.

Then turn the page to compare your answer to mine.

(1) The case of the open, unbarred windows is meant to be analogous to the case of a woman who, voluntarily and knowing the possibility of pregnancy, has sex without using birth control.  The burglar is meant to be analogous to the fetus; the room analogous to the woman’s body.

(2) The case of the barred windows is meant to be analogous to the case of a woman who, voluntarily and knowing the small possibility of pregnancy, has sex while using birth control.  Again, the burglar is meant to be analogous to the fetus; the room analogous to the woman’s body.

(3) Like (1) except the innocent person is meant to be analogous to the fetus.

(4) Like (2) except the innocent person is meant to be analogous to the fetus.

(5) The window mesh is meant to be analogous to birth control, the people seeds, after taking root in the room, are meant to be analogous to fetuses.

Recall that the standard procedure with an argument from analogy is (step 1) display the analogous argument alongside the target argument; (step 2) point out that the conclusion of the analogous argument does not follow; and (step 3) conclude that the conclusion of the target probably does not follow.  

Notice how Thomson does an incomplete job of step 1.  She does not actually state any of the analogous arguments.  She merely suggests them.  You will often see authors suggest rather than state their analogs, leaving you to do the work of actually stating them when you evaluate them.  

Thomson does do step 2.  (Most authors are careful to do this step, sometimes using a rhetorical question.)  She takes care to point out that the conclusions of each of the five analogs do not follow (step 2).  She says:

(1) The case of the unbarred windows and burglar:  “it would be absurd to say, ‘Ah, now he can stay, she’s given him a right to the use of her house . . . .”

(2) The case of the barred windows and burglar:  “it would be still more absurd to say this if I had had bars installed . . . .”

(3), (4) The case of the unbarred or barred windows and innocent person:  “it remains equally absurd if we imagine it is not a burglar who climbs in, but an innocent person . . . .”

(5) The people seeds:  “Does the person-plant who now develops have a right to the use of your house?  Surely not . . . .”

And Thomson also does step 3 when she concludes, at the beginning of the paragraph, “it is not at all plain that [the target] argument really does go even as far as it purports to.”  You will sometimes find authors who omit this step, too, leaving it to their readers to draw out the consequence of the analogy they suggest.  If you use arguments from analogy in your research paper, go ahead and do all three steps.  Make life easy for your reader!

4.2.8 Exercise

In “On the Moral and Legal Status of Abortion,” sec. 4 para. 1 (p. 350), Warren targets a pro-life argument from potential personhood to the immorality of abortion.  State or diagram this target, then turn the page to see my answer.

I’ve put Warren’s words within quotation marks.

1. The fetus is a potential person: “if nurtured and allowed to develop naturally it will very probably become a person.”

2. Therefore the fetus has “at least some right to life.”

Diagram: 1 ( 2.

Warren evaluates the conclusion of this target argument in her second paragraph:  “Such a right could not possibly outweigh the right of a woman to obtain an abortion.” (She restates this conclusion at the end of the fourth paragraph.)  She gives an argument for this evaluation in para. 2 (actual persons’ rights outweigh potential persons rights), but then says that “since [her argument] may not be immediately obvious in the case of a human fetus, let us look at another case.”  This “other case,” which she describes in paras. 3 and 4, is an argument from analogy involving a variety of cases involving a space explorer: (1) losing her life, (2) losing a year of freedom, (3) losing a day of freedom; (4) getting captured through no fault of her own, (5) getting captured through her own carelessness, (6) deliberately getting captured knowing the consequences.

State the background information and state or diagram these six analogous arguments, then turn the page to see my answers.

General background information for all six of Warren’s analogs:

[A] space explorer falls into the hands of an  alien culture, whose scientists decide to  create a few hundred thousand or more human beings, by breaking her body into its component cells, and using these to create fully developed human beings, with , of course, her genetic code.  We may imagine that each of these newly created individuals will . . . be a person.  Imagine that the whole project will take only seconds, and that its chances of success are extremely high, and that our explorer knows all of this, and also knows that these people will be treated fairly.  [The space explorer has a chance to act and escape.]

Specific background information for six different variations:

(1):  the space explorer will die if she does not escape.

(2):  the space explorer will be imprisoned for a year for the process, but not lose her life, if she does not escape.

(3):  the space explorer will be imprisoned only for a day if she does not escape.

(4):  the space explorer was captured through no fault of her own.

(5):  the space explorer was captured because of her own carelessness.

(6):  the space explorer deliberately got captured knowing the consequences.

The analogous argument is the same in each case:

1. Each of the few hundred thousand or more cells is a potential person: “all have a very high probability of becoming people very soon, if only she refrains from acting.”

2. Therefore each of these cells has “at least some right to life.”

Diagram:  1 ( 2.

I would not fault you if you built the background into six different arguments.  Always do what you think will be clearest and easiest for your reader to understand.

4.2.9 Exercise

Now state the details of background information that Warren might have in mind for the target pro-life argument in each of these six cases.  Then turn the page to compare your answers to mine.

(1)
The space explorer will die if she does not escape.  This case is analogous to a target argument involving a woman who will die if she does not have an abortion.

(2)
The space explorer will be imprisoned for a year for the process, but not lose her life, if she does not escape.  This case is analogous to a target argument involving a woman who faces about a year of pregnancy, possibly confined to her room or bed, if she does not have an abortion.

(3)
The space explorer will be imprisoned only for a day if she does not escape.  This case is analogous to a target argument involving a woman who faces only one more day of pregnancy before childbirth, possibly confined to her room or bed, if she does not have an abortion.

(4)
The space explorer was captured through no fault of her own.  This case is analogous to a target argument involving a woman who became pregnant due to rape (or severe mental retardation) in circumstances she could not have foreseen.

(5)
The space explorer was captured because of her own carelessness.  This case is analogous to a target argument involving a woman who became pregnant without wanting to, because of her own carelessness.

(6)
The space explorer deliberately got captured knowing the consequences.  This case is analogous to a target argument involving a woman who deliberately became pregnant knowing the consequences.

4.2.10 Exercise

We have completed step 1, constructing the analogous arguments.  Now complete steps 2 and 3 of Warren’s evaluation, quoting her own words where possible.  Then turn the page.

Step 2 is pointing out that the right to life of the potential person, in the conclusion of the analog, is outweighed by the rights of the actual person.  

Warren does this for analog (1), when she says in para. 3 (p. 350), “I maintain that in such a situation [the space explorer] would have every right to escape if she could, and thus to deprive all of these potential people of their potential lives; for her right to life outweighs all of theirs together . . . .”  Warren does this for the analogs (2)–(3), when she says in para. 4, “She would have a right to escape even if . . . .”  Warren does this for analogs (4)-(6) when she says “Nor would she be obligated to stay if . . . .”  Warren restates and summarizes her conclusions, “Regardless of how she got captured, she is not morally obligated to remain in captivity for any period of time for the sake of permitting any number of potential people to come into actuality, so great is the margin by which one actual person’s right to liberty outweighs whatever right to life even a hundred thousand potential people have.

Step 3 is concluding that the right to life of the potential person, in the conclusion of the target argument, is outweighed by the rights of the pregnant woman.  In Warren’s words:  “It seems reasonable to conclude that the rights of a woman will outweigh by a similar margin whatever right to life a fetus may have by virtue of its potential personhood.”

4.2.11 Evaluating a parallel argument

You have practiced and are familiar with steps 1, 2 and 3 of the process of using an argument from analogy to object to or evaluate a target argument.  As you practiced identifying the arguments of Thomson and Warren, it is likely that you wanted to evaluate them—perhaps you couldn’t keep from exclaiming “What a great analogy!” or “What a stupid analogy!”  

In this submodule you will learn how to evaluate any argument from analogy.  Just as you have learned to raise objections to objections (and so on indefinitely far), so too now you will learn how to make targets of arguments that themselves have target arguments (and this reflective process, like raising objections, can be continued indefinitely far).

Recall the structure you can identify in any argument from analogy:




As always, there are two places to test any argument:  ask if its premise is true and if its conclusion follows.  Here is how to do this test with any argument from analogy.

Test 1
Does the conclusion of the analog really not follow?  If you agree with the author about the conclusion of the analog, go on to step 2.  If on the other hand you disagree with author about the conclusion of the analog, try to adjust the analog so that you agree with the author.  Using this adjusted analog, go on to test 2.

Test 2
Is the analogy good?  Compare target and analog, listing disanalogies.  Then determine if any of these disanalogies are relevant.

Let’s practice test 1 first.  For each of the following analogs, the question you will ask is not, “Is it a good analogy?” but merely “Does the conclusion follow?”  If you do not agree with the author about the conclusion, then try to make adjustments until you do agree with the author.

4.2.12 Exercise

The acorn argument (from 4.2.1)

1. The development of an acorn from seed, through falling to the ground, into sapling-hood is continuous.

2. To draw a line, to choose a point in this development and say “before this point the thing is not an oak tree, after this point it is an oak tree” is to make an arbitrary choice, a choice for which in the nature of things no good reasons can be given.

Thus 
3. The acorn is, or anyway we had better say it is, an oak tree from the moment of first existence.

The only objection that occurred to me is that the term “oak tree” is ambiguous.  It might mean (a) “mature organism of the oak tree species” or simply (b) “any member of the oak tree species.”  I have no objection to agreeing that the conclusion does not follow in sense (a).  But the conclusion clearly is true in sense (b), because an acorn as much as a mature tree is a member of the oak tree species.  In order to agree with the author that the conclusion of the acorn argument does not follow, I must adjust the argument as follows (my adjustments in square brackets).  

1. The development of an acorn from seed, through falling to the ground, into sapling-hood is continuous.

2. To draw a line, to choose a point in this development and say “before this point the thing is not [a mature organism of the oak tree species], after this point it is [a mature organism of the oak tree species]” is to make an arbitrary choice, a choice for which in the nature of things no good reasons can be given.

Thus 
3. The acorn is, or anyway we had better say it is, [a mature organism of the oak tree species] from the moment of first existence.

You may have thought of many possible other objections, each of which requires you to try to find an adjustment.  

4.2.13 Exercise

The violinist argument (from 4.2.3)

1.
“Violinists are persons.” 

2.
“All persons have a right to life.”

3.
[So the violinist has a right to life.]

4.
[A person’s right to life is stronger and more stringent than your right to decide what happens in and to your body.]

5.
“[So] a person’s right to life outweighs your right to decide what happens in and to your body.”

6
“So [the violinist may not be killed]; you may not be unplugged from him.”

If you want a hint, see Warren, sec. I (pp. 345-6).

Warren points out that the background information makes a difference to whether we think that it is wrong to unplug the violinist and kill him (sec. I, especially paras. 8 and 9).  Warren agrees with the author of the argument in the case of rape, which by analogy is a case where you were kidnapped and woke up to find yourself attached to the violinist.  Even in this case, however, it seems to me that I, if I killed the violinist by unhooking him, would be haunted the rest of my life by a sense that a better person than I would have made a sacrifice to save the violinist’s life.  I agree with the author, nonetheless, that the law should not require me to remain hooked up to the violinist in cases where I was not responsible for hooking him up in the first place.  Here, then, is my adjusted argument (my adjustments in square brackets):

Background information: I am not responsible in anyway for being hooked up to the violinist in the first place.  Perhaps I was kidnapped and hooked up while unconscious, or the like.

1.
“Violinists are persons.” 

2.
“All persons have a right to life.”

3.
So the violinist has a right to life.

4.
A person’s right to life is stronger and more stringent than your right to decide what happens in and to your body.

5.
“So a person’s right to life outweighs your right to decide what happens in and to your body.”

6
“So [there ought to be a law that] the violinist may not be killed; [there ought to be a law that] you may not be unplugged from him.”

I now agree with the author that conclusion 6 does not follow.  

4.2.14 Exercise

The open window and burglar argument (from 4.2.6 (1))

1. If [I] voluntarily [open a window to air my room], knowing of the chance it will issue in [entry by a burglar], and . . . [a burglar does enter], then [my] partial responsibility for the [burglar’s] being there DOES itself give it a right to the use of [my room].

3. Thus [expelling the burglar] would be doing [the burglar] an injustice.

4. Then . . . if [I] voluntarily [admitted the burglar into my room], I can NOT now kill [or expel] it, even in self-defense.

Hint:  see Warren, para. 3, p. 342.

The law rightly forbids me to kill trespassers, even burglars, on my property (say, by pushing them out of my apartment window on the thirtieth floor), unless I believe an innocent life is in imminent danger of death.  So I may expel the burglar only if I do not kill him in the process.  Here is an adjusted version of the argument, about which I can agree with the author that the conclusion does not follow.  (My adjustments in square brackets.)

1. If I voluntarily open a window to air my room, knowing of the chance it will issue in entry by a burglar, and . . . a burglar does enter, then my partial responsibility for the burglar’s being there DOES itself give it a right to the use of my room.

3. Thus expelling the burglar would be doing the burglar an injustice.

4. Then . . . if I voluntarily admitted the burglar into my room, I can NOT now [expel it in a way that preserves its life, and I cannot kill it] in self-defense.

I now agree with the author that this conclusion is UNACCEPTABLE.

4.2.15 Exercise

The barred window and burglar argument (from 4.2.6 (2))

1. If [I had bars installed outside my windows, precisely to prevent burglars from getting in, and I] voluntarily [open a window to air my room], knowing of the  [very small] chance it will issue in [entry by a burglar], and [because of a defect in the bars a burglar does enter], then [my] partial responsibility for the [burglar’s] being there DOES itself give it a right to the use of [my room].

3. Thus [expelling the burglar] would be doing [the burglar] an injustice.

4. Then . . . if [I] voluntarily [admitted the burglar into my room, I] can NOT now kill [or expel] it, even in self-defense.

Hint:  see Warren, para. 3, p. 342.

Again, the law rightly forbids me to kill trespassers, even burglars, on my property (say, by pushing them out of my apartment window on the thirtieth floor), unless I believe an innocent life is in imminent danger of death.  So I may expel the burglar only if I do not kill him in the process.  Here is an adjusted version of the argument, about which I can agree with the author that the conclusion does not follow.  (My adjustments in square brackets.)

1. If I voluntarily open a window to air my room, knowing of the chance it will issue in entry by a burglar, and . . . a burglar does enter, then my partial responsibility for the burglar’s being there DOES itself give it a right to the use of my room.

3. Thus expelling the burglar would be doing the burglar an injustice.

4. Then . . . if I voluntarily admitted the burglar into my room, I can NOT now [expel it in a way that preserves its life, and I cannot kill it] in self-defense.

I now agree with the author that this conclusion is unacceptable.

4.2.16 Exercise

The open window and innocent person argument (from 4.2.6 (3))

1. If [I] voluntarily [open a window to air my room], knowing of the chance it will issue in [entry by anyone], and . . . [an innocent person does blunder or fall in], then [my] partial responsibility for the [innocent person’s] being there DOES itself give it a right to the use of [my room].

3. Thus [expelling the innocent person] would be doing [the innocent person] an injustice.

4. Then . . . if I voluntarily [admitted the burglar into my room], I can NOT now kill [or expel] it, even in self-defense.

Hint:  see Warren, para. 3, p. 342.

As before, the law rightly forbids me to kill trespassers, especially innocent trespassers, on my property (say, by pushing them out of my apartment window on the thirtieth floor), unless I believe an innocent life is in imminent danger of death.  So I may expel the innocent only if I do not kill him in the process.  Here is an adjusted version of the argument, about which I can agree with the author that the conclusion does not follow.  (My adjustments in square brackets.)

1. If I voluntarily open a window to air my room, knowing of the chance it will issue in entry by an innocent person, and . . . an innocent person does enter, then my partial responsibility for the burglar’s being there DOES itself give it a right to the use of my room.

3. Thus expelling the innocent person would be doing the innocent person an injustice.

4. Then . . . if I voluntarily admitted the innocent person into my room, I can NOT now [expel it in a way that preserves its life, and I cannot kill it] in self-defense.

I now agree with the author that this conclusion is unacceptable.

4.2.17 Exercise

The barred window and innocent person analogy (from 4.2.6 (4))

1. If [I had bars installed outside my windows, precisely to prevent anyone from getting in, and I] voluntarily [open a window to air my room], knowing of the [very small] chance it will issue in [entry by someone], and [because of a defect in the bars an innocent person does enter], then [my] partial responsibility for the [innocent person’s] being there DOES itself give it a right to the use of [my room].

3. Thus [expelling the innocent person] would be doing [the innocent person] an injustice.

4. Then . . . if [I] voluntarily [admitted the innocent person into my room, I] can NOT now kill [or expel] it, even in self-defense.

Hint:  see Warren, para. 3, p. 342.

The law rightly forbids me to kill trespassers, especially innocent trespassers, on my property (say, by pushing them out of my apartment window on the thirtieth floor), unless I believe an innocent life is in imminent danger of death.  So I may expel the trespasser  only if I do not kill him in the process.  Here is an adjusted version of the argument, about which I can agree with the author that the conclusion does not follow.  (My adjustments in square brackets.)

1. If I voluntarily open a window to air my room, knowing of the chance it will issue in entry by an innocent person, and . . . an innocent person does enter, then my partial responsibility for the innocent person’s being there DOES itself give it a right to the use of my room.

3. Thus expelling the innocent person would be doing the innocent person an injustice.

4. Then . . . if I voluntarily admitted the innocent person into my room, I can NOT now [expel it in a way that preserves its life, and I cannot kill it] in self-defense.

I now agree with the author that this conclusion is unacceptable.

4.2.18 Exercise

Pollen-like people argument (from 4.2.5 (5))  

Background information for this analog:  People seeds drift about in the air like pollen.  If you open your windows, one may drift in and take root in your carpets or upholstery  You don’t want children, so you fix up your windows with fine mesh screens, the very best you can buy.  As can happen, however, and on very, very rare occasions does happen, one of the screens is defective; and a seed drifts in and takes root.

1. If [you voluntarily [open a window to air your room, knowingly kept carpets and upholstered furniture, and knew that screens were sometimes defective, and because of a defect in the mesh a people seed does enter and takes root], then [my] partial responsibility for the [innocent person’s] being there DOES itself give it a right to the use of [my room].

3. Thus [killing the person] would be doing it an injustice.

4. Then . . . if [you] voluntarily [opened your windows] you can NOT now kill [or expel] it, even in self-defense.

Hint:  see Warren, para. 3, p. 342.

The law rightly forbids me to kill trespassers, especially innocent trespassers, on my property (say, by pushing them out of my apartment window on the thirtieth floor), unless I believe an innocent life is in imminent danger of death.  So I may expel the trespasser only if I do not kill him in the process.  Here is an adjusted version of the argument, about which I can agree with the author that the conclusion does not follow.  (My adjustments in square brackets.)

1. If [you voluntarily [open a window to air your room, knowingly kept carpets and upholstered furniture, and knew that screens were sometimes defective, and because of a defect in the mesh a people seed does enter and takes root], then [my] partial responsibility for the [innocent person’s] being there DOES itself give it a right to the use of [my room].

3. Thus [killing the person] would be doing it an injustice.

4. Then . . . if [you] voluntarily [opened your windows] you can NOT now [expel it in a way that preserves its life, and cannot kill it] in self-defense.

I now agree with the author that this conclusion is unacceptable.

4.2.19 Exercise

The space explorer argument (from 4.2.9)

Background information. [A] space explorer falls into the hands of an  alien culture, whose scientists decide to create a few hundred thousand or more human beings, by breaking her body into its component cells, and using these to create fully developed human beings, with , of course, her genetic code.  We may imagine that each of these newly created individuals will . . . be a person.  Imagine that the whole project will take only seconds, and that its chances of success are extremely high, and that our explorer knows all of this, and also knows that these people will be treated fairly.  [The space explorer has a chance to act and escape.]

Specific background information for different versions:

(1):  the space explorer will die if she does not escape.

(2):  the space explorer will be imprisoned for a year for the process, but not lose her life, if she does not escape.

(3):  the space explorer will be imprisoned only for a day if she does not escape.

(4):  the space explorer was captured through no fault of her own.

(5):  the space explorer was captured because of her own carelessness.

(6):  the space explorer deliberately got captured knowing the consequences.

The analog is the same for each version:

1. 
Each of the few hundred thousand or more cells is a potential person: “all have a very high probability of becoming people very soon, if only she refrains from acting.”

2. 
Therefore each of these cells has “at least some right to life.”

The author does not deny the conclusion.  She wants us to agree that in this analog and its variations the right to life of all these potential persons is outweighed by the space explorer’s right to liberty.  I agree and have no adjustments to make.

4.2.20 Is the analogy good?

Now let’s practice test 2. Here’s the recipe to use for test 2.  

· First, compare target and analog, which you may have adjusted in test 1, listing disanalogies.  I don’t know how to teach you to do this other than by lots of practice, so I’ll just say, “Use your common sense to think of disanalogies.” 

· Second, patch up the analogy to remove the disanalogy.  Either change the analog to fit the target better, or change the target to fit the analog better.  If possible, try both of these changes.

· Third, when you use the patched up analogy, decide if you agree with the author.  If you do agree, the disanalogy is irrelevant.  If you now disagree with the author, the disanalogy is relevant. 

This recipe is not as hard as it sounds, as a little practice with exercises will convince you.  For each of the following pairs of target and analog, determine if the analogy between target and analog is any good.  

4.2.21 Exercise

The acorn analogy, as adjusted from test 1 above (4.3.12)

Target

1. The development of a human being from conception through birth into childhood is continuous.

2. To draw a line, to choose a point in this development and say “before this point the thing is not a person, after this point it is a person” is to make an arbitrary choice, a choice for which in the nature of things no good reasons can be given.

Thus 
3. The fetus is, or anyway we had better say it is, a person from the moment of conception.

Analog (as adjusted from test 1)

1. The development of an acorn from seed, through falling to the ground, into sapling-hood is continuous.

2. To draw a line, to choose a point in this development and say “before this point the thing is not [a mature organism of the oak tree species], after this point it is [a mature organism of the oak tree species]” is to make an arbitrary choice, a choice for which in the nature of things no good reasons can be given.

Thus 
3. The acorn is, or anyway we had better say it is, [a mature organism of the oak tree species] from the moment of first existence.

First part of recipe:  list of disanalogies.  I only thought of one.  You may have thought of others.  I wouldn’t fault you for not thinking of this very one.

a.
A human being has moral standing (rights, a soul, sanctity, some kind of status) that an oak tree lacks.

Second part of recipe:  adjust either target or analog (or both) to remove the disanalogy.  

a. 
I can adjust the target to remove this disanalogy by adding the following background information.  Imagine a culture that grants moral standing (rights, a soul, sanctity, some kind of status) to fewer things than our culture does.  Perhaps only the gods have moral standing (or whatever); perhaps nothing has moral standing for them.  In any case, in that culture human beings will NOT be disanalogous to trees. 

b. 
Or I can adjust the analog to remove this disanalogy by adding the following background information.  Imagine a culture that grants moral standing (or whatever the status is) to trees as well as humans.  Perhaps mature organisms of the oak tree species are revered by them as containing human spirits, and they believe a human spirit is killed whenever a mature organism of the oak tree species is destroyed.

With adjustment (a) to the target argument, I think even pro-lifers will agree that such a culture need not say either that acorns are mature specimens of the oak tree species, nor that fetuses are mature specimens of humanity.  But such an analogy is too limited to draw conclusions about what our culture should say, since we do think humans have moral status.  So with this adjustment, the disanalogy seems relevant.

With adjustment (b) to the analog, I think it is no longer obvious that the conclusion of the analog follows.  I imagine such a culture might find it difficult to resolve the issue of whether to consider acorns to share status with mature trees, just as our culture finds difficulty with the issue of whether fertilized eggs share status with persons.  So with this adjustment, the disanalogy also seems relevant.

Since we have a relevant disanalogy, we seem to have established an objection to the author’s argument from analogy.

It might surprise you to learn that most authors, even those published in our text, have not been trained to think systematically, as we have been doing, about analogies.  Although it is hard work to go through all these tests, you will have a tremendous advantage in discussions about moral issues that involve analogies, an advantage that will make your contributions to such discussions more valuable than most.  The more you practice, the more you’ll be confident of your ability to make a worthwhile contribution to such discussions.

4.2.22 Exercise

The violinist analogy (as adjusted from 4.2.13)

Target

1.
“The fetus is a person from the moment of conception”

2.
“Every person has a right to life.”

3.
“So the fetus has a right to life.”

4.
“A person’s right to life is stronger and more stringent than the mother’s right to decide what happens in and to her body.

5.
“So a person’s right to life outweighs the mother’s right to decide what happens in and to her body.”

6
“So the fetus may not be killed; an abortion may not be performed.”

Analog

Background information: I am not responsible in any way for being hooked up to the violinist in the first place.  Perhaps I was kidnapped and hooked up while unconscious, or the like.

1.
“Violinists are persons.” 

2.
“All persons have a right to life.”

3.
So the violinist has a right to life.

4.
A person’s right to life is stronger and more stringent than your right to decide what happens in and to your body.

5.
“So a person’s right to life outweighs your right to decide what happens in and to your body.”

6
“So [there ought to be a law that] the violinist may not be killed; [there ought to be a law that] you may not be unplugged from him.”

If you want a hint about limitations or disanalogies here, see Warren, p. 345; Callahan, pp. 368-9.

Notice, before you consider my answer, how weak Callahan’s evaluation of this argument is.  She merely says, “Having a baby is not like . . . being hooked up to a famous violinist’s artificial life-support system” (p. 368).  She is telling us that she knows of relevant disanalogies, but she is not telling us what they are!  Don’t leave your reader in the dark in this way.  Take the time to spell out the disanalogies!

First part of our recipe:  list of disanalogies.  (I’ve tried to follow up on some of Callahan’s suggestions.)  A mother’s relation to the fetus is disanalogous to my relation to the violinist because:

a.
The violinist was not conceived in and will not emerge from my body; the fetus was conceived in and will emerge from the mother’s.

b.
In the case of the fetus there is a dynamic passage from conception to birth.

c.
Fetal development to birth is genetically ordered and universally found in the human species.

d.
In sum, a mother is the fetus’s mother!  I’m not the violinist’s mother.

Second part of recipe:  adjust either target or analog (or both) to remove the disanalogies.  I’ve found ways to adjust the analog to remove the disanalogy.  I won’t try to adjust the target.

I can adjust the analog to remove these disanalogies by adding the following background information.  Imagine that, (d) as it happens, the violinist is my son; I am his mother!  (a) He was conceived and did emerge from my body, albeit twenty years ago.  If you think it makes a difference, you can even imagine that my son the violinist is inexplicably small for a twenty-year-old human, indeed he is only about three inches long (!), and the doctors actually reinserted him into my body by virtue of our mother/child natural genetic makeup, so that the process of healing him is therefore (c) genetically ordered.  (b) The life support my body gives to him will heal his life-threatening dependency upon me by a “dynamic process” from his initial hook up to my kidney to his eventual complete disconnection with normal health.

With these adjustments to the background information for the analog, the disanalogies I listed are removed.  (Of course, you may have thought of others.)  I still agree with the author about the conclusion of the analog (as adjusted in test 1):  if I was not responsible for the hook up of him to (or within!) me, even if he is my son, there ought NOT to be a law requiring me not to kill him by getting unhooked.

Notice, also, that, because of the way I had to adjust the analog in test 1, this means by analogy that there ought not be a law forbidding abortion in the case of rape or other cases where I’m not responsible in any way for the pregnancy (e.g. severe retardation).  The analogy would require the law to permit abortions through the ninth month of pregnancy when the mother, through no fault of her own, was unable to abort earlier.  The analogy does NOT show that any abortions are morally blameless; only that no law should forbid them.

In sum, I found no relevant disanalogies in test 2.  Test 1, however, severely limited the use of this analogy for pro-choice purposes.

4.2.23 Exercise

The burglar and open window

Target

1. [If] a woman voluntarily indulges in intercourse, knowing of the chance it will issue in pregnancy, and . . . does become pregnant, [then her partial responsibility for the fetus’s being there DOES itself give it a right to the use of her body.

3. Thus [doing the abortion] would be doing [the fetus] an injustice.

4. Then . . . if she voluntarily called it into existence, [she can NOT now kill it, even in self-defense].

Analog as adjusted in 4.2.14.

1. If I voluntarily open a window to air my room, knowing of the chance it will issue in entry by a burglar, and . . . a burglar does enter, then my partial responsibility for the burglar’s being there DOES itself give it a right to the use of my room.

3. Thus expelling the burglar would be doing the burglar an injustice.

4. Then . . . if I voluntarily admitted the burglar into my room, I can NOT now [expel it in a way that preserves its life, and I cannot kill it] in self-defense.

First part of recipe:  list of disanalogies.  I only thought of one.  You may have thought of others.  I wouldn’t fault you for not thinking of this very one.

a.
A burglar is guilty of wrongdoing in trespassing; a fetus is not.

Second part of recipe:  adjust either target or analog (or both) to remove the disanalogy.  I can’t think of a helpful way to adjust the target.  But I can adjust the analog, by imagining an innocent person instead of a burglar trespassing.  We get the closest analogy if I can imagine this innocent trespasser to be an infant, whom someone left inside my room.  This adjustment to the analogy does not change my agreement with the author about the conclusion of the analog, as adjusted in test 1, that it would be unacceptable to say I cannot remove the trespasser in a way that preserves its life, and I cannot kill it in self-defense.  

Killing an infant in self-defense is a bit hard to imagine.  Suppose that I find this infant in my room, locked inside its basinet with a time bomb.  As it happens, I have a rare medical condition making it fatal for me to leave my own house.  So I throw the basinet (I ought to mention that, despite my medical condition, I’m a champion shot-putter) far enough out the door to save my life.  The only option was to stay and die with the infant.  

In sum, according to test 2, the disanalogy is irrelevant, because we can patch things up to remove it and still agree with the author.  Notice that test 1, however, has severely limited this argument’s usefulness to pro-choicers:  by analogy, abortion is permissible only when the mother’s life is in danger.

You should be able to see that we’ll get the exact same results with the other variations on this analogy, so I won’t give you those as exercises.

4.2.24 Exercise

Pollen-like people analogy 

Target

1. [If] a woman voluntarily indulges in intercourse, knowing of the chance it will issue in pregnancy, and . . . does become pregnant, [then her partial responsibility for the fetus’s being there DOES itself give it a right to the use of her body.

3. Thus [doing the abortion] would be doing [the fetus] an injustice.

4. Then . . . if she voluntarily called it into existence, [she can NOT now kill it, even in self-defense].

Analog as adjusted 4.2.18

Background information for this analog:  People seeds drift about in the air like pollen.  If you open your windows, one may drift in and take root in your carpets or upholstery  You don’t want children, so you fix up your windows with fine mesh screens, the very best you can buy.  As can happen, however, and on very, very rare occasions does happen, one of the screens is defective; and a seed drifts in and takes root.

1. If [you voluntarily [open a window to air your room, knowingly kept carpets and upholstered furniture, and knew that screens were sometimes defective, and because of a defect in the mesh a people seed does enter and takes root], then [my] partial responsibility for the [innocent person’s] being there DOES itself give it a right to the use of [my room].

3. Thus [killing the person] would be doing it an injustice.

4. Then . . . if [you] voluntarily [opened your windows] you can NOT now [expel it in a way that preserves its life, and cannot kill it] in self-defense.

First part of recipe:  list of disanalogies.  I didn’t think of any.  Notice that test 1, however, has severely limited this argument’s usefulness to pro-choicers:  by analogy, abortion is permissible only when the mother’s life is in danger.

4.2.25 Exercise

The space explorer analogy

Target

1. The fetus is a potential person: “if nurtured and allowed to develop naturally it will very probably become a person.”

2. Therefore the fetus has “at least some right to life.”

Analog as adjusted in 4.2.19

Background information. [A] space explorer falls into the hands of an alien culture, whose scientists decide to create a few hundred thousand or more human beings, by breaking her body into its component cells, and using these to create fully developed human beings, with , of course, her genetic code.  We may imagine that each of these newly created individuals will . . . be a person.  Imagine that the whole project will take only seconds, and that its chances of success are extremely high, and that our explorer knows all of this, and also knows that these people will be treated fairly.  [The space explorer has a chance to act and escape.]

Specific background information for different versions:

(1):  the space explorer will die if she does not escape.

(2):  the space explorer will be imprisoned for a year for the process, but not lose her life, if she does not escape.

(3):  the space explorer will be imprisoned only for a day if she does not escape.

(4):  the space explorer was captured through no fault of her own.

(5):  the space explorer was captured because of her own carelessness.

(6):  the space explorer deliberately got captured knowing the consequences.

The analog is the same for each version:

1. 
Each of the few hundred thousand or more cells is a potential person: “all have a very high probability of becoming people very soon, if only she refrains from acting.”

2. 
Therefore each of these cells has “at least some right to life.”

First part of recipe:  list of disanalogies.  I only thought of two.  You may have thought of others.  I wouldn’t fault you for not thinking of these.

a.
The fertilized ovum and fetus will naturally become human beings.  The cells in my body will not naturally become human beings.

b.
The space explorer does not destroy her cells in escaping.  They continue to live indefinitely.  A fertilized ovum is destroyed in abortion.

Second part of recipe:  adjust either target or analog (or both) to remove the disanalogy.  

a. 
I can adjust the target to remove disanalogy (a) by adding the following background information.  Imagine an artificially inseminated ovum that now lies in a test tube.  It was not “naturally” created and will not “naturally” become a human being except after an unnatural process.  


I can adjust the target to remove disanalogy (b) by imagining a new “morning after” procedure for impregnated women.  Their fertilized ova are removed alive, and are sustained indefinitely in a solution that does the ova no harm, though the ova never divide and develop into fetuses.

b. 
Or I can adjust the analog to remove disanalogy (a) by changing the following background information.  Instead of falling into the hands of an alien culture, whose scientists decide to create a few hundred thousand or more human beings from her cells, imagine that our space explorer has fallen into some naturally occurring solution that will naturally react with the cells in her body to cause them to grow into persons.  


I can adjust the analog to remove disanalogy (b) by imagining that the space explorer in escaping must in effect destroy all the cells that would have developed into persons.  This leaves her with a minor flesh wound, as it happens. 

The disanalogies do not seem relevant, because after patching up the analogy (in any of the suggested ways) to deal with them, I am still inclined to agree with the author about the conclusion of the analog:  whatever right to life the space explorer’s cells might have, that right is outweighed by the space explorer’s mother’s right to liberty, and by analogy, any right to life a fertilized one-celled ova has is outweighed by the mother’s right to liberty.

This analogy as constructed seems limited to fertilized ova.

If interested, you could try to extend the analogy to fetuses, or try to show that it cannot be extended to fetuses.

4.3 Writing an evaluation of an article-length argument

At this point, you are ready to write your mid-term examination:  Identify and evaluate an article-length argument on your  research topic.  Raise objections and consider replies in your evaluation.(Min. 3 pp.).  

Here is how to do it, step by step.

1.
Pick one of the articles you mailed to me to examine.  The article should be an argumentative essay.  (How to identify argumentative essays as quickly as possible?  See modules 3.1 and 3.2.)  The article should be about an issue of particular interest to you in health care ethics. For example, if you are in dental hygiene, you might find it most valuable to research a topic in dental hygiene ethics.  (How to find such topics?  Ask instructors or professionals in your special area of interest to help you identify ethical issues you could examine.)  It may be an article from the textbook or from the Cline library web collection for this course.

2.
Make a section-level or topic-sentence level diagram of the article.  How?  See module 3.  How long will this part be?  1-5 pp.

3.
You will not object to everything in the article.  Make paragraph by paragraph diagrams of the parts of the author’s argument that interest you.  How?  See module 2.  How long?  1-5 pp.

4.
Make at least one significant objection to the author’s argument.  Consider at least one reply to that objection.  In writing your objections and replies, state the arguments you examine as numbered lists of sentences.  How?  See modules 4.1 and 4.2. How long?  1-5 pp.  Note:  In your process of evaluation, you do NOT need to evaluate or use arguments from analogy.  Not every argument and not every objection depends on an analogy; so it would be artificial for me to insist you find or use them.

5.
Write a conclusion, in which you decide whether the objections you raise do or do not show a weakness in the author’s argument.  Perhaps your objections threaten to destroy the author’s argument.  Perhaps they limit it.  Perhaps you can think of good replies to all objections raised. How long?  One paragraph up to 2 pp.

6.
Write an introduction, using your section level or topic sentence level diagrams, to give the reader (me) the background information that I need in order to understand the issue and the argument you are targeting.  How long?  One paragraph up to 2 pp.

Steps 3, 4 and 5 are your midterm.  They should be written up in a unified paper, using complete sentences and any writing skills you have learned in college prior to this course, as well as the argument analysis skills you have learned in this course.  You do not need to put diagrams in this part.  This essay should be a minimum of 3 pages (typed, double spaced).  In addition to the essay, attach the diagrams from parts 1 and 2 as appendices.

Put your midterm and attached diagrams into an MSWord document, titled “[firstname].[lastname].midterm.”  Send to me as an email attachment before the deadline for your session.

I will grade your midterm paper on the accuracy of your identification of the relevant arguments you examine and the skill and clarity you show in considering objections and replies, as you form your evaluation.

There is an excellent example of a “midterm paper” you may study with profit:  Section I of Warren’s “On the Moral and Legal Status of Abortion,” on pp. 344-346.  In that section Warren evaluates an argument in Thomson’s article “A Defense of Abortion.”

Try to have fun as you work!












































































































































































































































































































































































































































































































































































































































































Background information:  Two arguments, a target and analog.





Conclusion:  Probably, the conclusion of the target does not follow.





Premise:  The conclusion of the analog does not follow.





6 [The violinist may not be killed]; you may not be unplugged from him.





3. [The violinist has a right to life.] 





5 A person’s right to life outweighs your right to decide what happens in and to your body.





4.  [A person’s right to life is stronger and more stringent than your right to decide what happens in and to your body.]





1 The violinist is a person.





6 The fetus may not be killed; [in other words,] an abortion may not be performed.





2. All persons have a right to life.





3 The fetus has a right to life. 





4 [A person’s right to life] outweighs [the mother’s right to decide what happens in and to her body].





4 A person’s right to life is stronger and more stringent than the mother’s right to decide what happens in and to her body.





1 The fetus is a person from the moment of conception.





2. Every person has a right to life.





Probably, the conclusion of the target argument does not follow.





The conclusion of the analog does not follow.





Notice that step 1 of the process is not a premise.  It is background information.














Conclusion





Premise





1. Is the premise true?





2. Is the inference compelling?





3. The moral gravity of procured abortion is apparent in all its truth if we recognize that we are dealing with murder and, in particular, when we consider the specific elements involved. (para. 3)





2. Procured abortion is the deliberate and direct killing, by whatever means it is carried out, of a human being in the initial phase of his or her existence, extending from conception to birth. (para. 2)





II.3.3 A fetus cannot be said to have any more right to life than a newborn guppy.





C. Procured abortion is an unspeakable crime.








II.3.2 We must keep in mind that the attributes which are relevant in determining whether or not an entity is enough like a person to be regarded as having some moral rights are no different from those which are relevant to determining whether or not it is fully a person and that being genetically human, or having recognizably human facial and other physical features, or detectable brain activity, or the capacity to survive outside the uterus, are simply not among these relevant attributes.





3. [The result of conception must be considered a personal human life.]





2. [A human individual MUST BE a human person.]





W.4 A woman may simply believe that bearing a child is incompatible with her life plans at the time.





W.3 Women have abortions for a wide variety of compelling reasons.





1. “From the time that the ovum is fertilized, a life is begun which is neither that of the father nor the mother; it is rather the life of a new human being with his own growth.





I take premise 2 from the final sentence of para. 7, a rhetorical question.  I supply the conclusion from language in the first sentence of the paragraph (this conclusion is restated in para. 8).





1. The primary wrong-making feature of a killing is the loss to the victim of its future [like ours].





2. The reason that is sufficient to explain why it is wrong to kill human beings after the time of birth is a reason that also applies to fetuses [both are deprived of a future like ours].





3. Abortion is prima facie seriously morally wrong.





W.5 The women concerned are in the best position to judge whether abortion is the appropriate response to a pregnancy.





F.10 No absolute value attaches to fetuses apart from their relational status [as dependent upon the pregnant woman].








W.9 Women cannot rely on birth control [to gain control over their sex lives].





Women have a right to choose abortion.





F.9 The responsibility and privilege of determining a fetus’s specific social status and value must rest with the woman carrying it.








W.8 Existing patterns of sexual dominance mean that women often have little control over their sex lives.








W.7 [Ending the cycle of repression against women requires that they be free to choose abortion.]

















Women have a right to choose abortion.
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